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Questions





Note:  Questions have equal weight





1.  Construction costs for a new factory that PRI Losses Inc. is considering building is $650,000 per month for 6 months beginning one month from today.  Net, after-tax cash flows are expected to be $25,000 six months from today and are expected to grow by 0.5% per month.  Monthly cash inflow will continue for a total of 360 months (including the first one).  Te beta of the project is estimated to be 1.1 and the beta of PRI is estimated to be 1.3.  The rate on T-bills is 5.3% and the market risk premium is expected to be 7.2%.  Should PRI proceed?





2.  Congress has just passed a law that requires all lawyers to provide free legal advice to anyone (or firm) in bankruptcy.  It has also voted to provide federal funding to pay for bankruptcy court costs.  The CEO of your firm has stated that since bankruptcy costs have been eliminated by these actions he intends to recommend that the firm dramatically increase its leverage (by issuing debt and repurchasing stock) in order to take advantage of the tax shield such leverage would offer.  How would you respond when he asks your opinion of his proposal?





3.  The CEO of the firm you work for has just come in to your office and stated that a major stockholder has called him and asked if the firm would cut its dividend and begin to repurchase shares instead using transferable put rights.  How would you respond to each of the following questions from your boss?


a.  Why would this stockholder prefer that the firm repurchase shares rather than pay dividends?


b.  What are transferable put rights?


c.  What advantage does a transferable put right provide over the firm’s usual tender offers?





4.  The CEO has just told you that another major stockholder has suggested that mangement compensation be tied to something like EVA.  How would you respond to each of the following questions from your boss?


a.  What is EVA and what does it measure?


b.  What advantages does an EVA compensation system have over the firm’s current system of salary plus bonuses based on earnings per share?





5.  Your uncle is interested to learn that you have studied options in your corporat finance class.  He states that options are very fascinating and that he trades them frequently, but he doesn’t understand what they have to do with corporate finance.  What do you tell him about how options can be used in corporate finance?





6.  Suppose that in saving for your retirement, three mutual funds are available for you to invest in as follows:





Asset	Expected return	Standard deviation


A	15%	9%


B	25%	35%


C	19%	20%





In addition to these three mutual funds, you may also borrow or lend at the risk-free rate of 5.5% per year.  If you are significantly more willing to take on risk than the average investor, sketch and discuss your optimal investment portfolio (including your borrowing or lending).
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Key:  





1.  	r = 5.3 + 1.1(7.2) = 13.22


�EMBED Equation.3���


Costs


�EMBED Equation.3���


or 650,000 = PMT, 1.04 = I%, 6 = N => PV = 3,761,879.0136


Inflows


�EMBED Equation.3���


�EMBED Equation.3���


or 3,956,779.5489 = FV; 1.04 = I%; 5 = N => PV = 3,767,282.7177


NPV = -3,761,879.0136 + 3,767,282.7177 = -4596.30


=> don’t proceed since NPV < 0





Points for correct use of equations [+4 each]:  r, �EMBED Equation.3���, V0, V5, V0, NPV


Points for correct use of variables: 	[+1 each]: 5.3; 7.2; 650,000; 25,000; .005; 


[+3 each]:  1.1; 1/12; 6; 360; 5


Points for correct NPV:  [+2]


Points for final answer:  [+4]





2.  Change should have minimal impact [8] on optimal capital structure


Legal fees and court costs are only a component of the direct costs [4] of financial distress


Direct financial distress costs are only 1 to 3% of firm value [8]


The indirect costs of financial distress have not been affected [8]


=> these indirect costs are up to 20% [4] of firm value and do affect optimal capital structure


Indirect costs include:  possibility of lost tax shield [1], lost sales [1], higher credit costs [1], loss of key employees [1],  focus on avoiding bankruptcy rather than max. firm value [1], agency costs from stockholder/bondholder conflict [1]


Scale [checks=points]:  34=50, 32=48, 31=47, 30=46, 29=45, 28=44, 26=43, 24=42, 22=41, 21=40, 20=39, 17=37, 16=36, 14=35, 10=33, 7=31, 6=30, 2=25





�
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3.  	a.  pay tax on gain rather than entire distribution [8]


b.  marketable security that gives holder right to sell shares back to firm [8]


c.  no wealth redistributions between stockholders [8]


=> each sells back same % of stock holdings [2] (or compensated through sale of puts) [2] 


no oversubscription problem [8]


=> puts allow only fixed number of shares to be sold [4]


tax gain to stockholders relative to tender offer [8]


=> only those with low tax liability from selling shares will exercise the options [2]


=> those with high basis [1] or low tax rate [1]


Scale [checks=points]:  47=50, 44=49, 42=48, 40=47, 34=44, 32-33=43, 30=42, 28=41, 26=40, 24=39, 23=38, 22=37, 20=35, 18=33, 16=31





4.  	a.  EVA is a measure of economic profit [4]


b.  	Key => leads to better wealth creation for stockholders [4] since EVA more closely related to wealth creation for stockholders than earnings or EPS [4]


1)  includes cost of all capital used by the firm[4]


=> leads management to examine whether assets being used effectively. [2]


2)  adjusts to reflect cash flow rather than accruals [2]


3)  removes conservative bias [2] from accounting statements so that aimed at stockholders rather than creditors 


4)  adjusts to reflect only ongoing operations [2]


5)  leads to better long-term planning [2]


Scale [checks=points]:  24=50, 21=47, 20=45, 19=43, 18=42, 17=41, 16=40, 14=39, 12=37, 10=35, 6-7=32





5.  	1)  Stock can be viewed as a call on the firm’s assets [8]


=> exercise call by paying off bondholders (otherwise bondholders get the firm) [4]


=> can use option pricing theory to examine the impact on stockholder wealth of:capital budgeting [2], capital structure [2], and dividend decisions [2]


V0 = value of firm’s assets, Dt = maturity value of debt, s2 = variance of returns on firm’s assets, t = maturity of firm’s debt, rf = risk-free rate (APR) with same maturity as debt [1 each]





2)  Risky bond can be viewed as a risk-free bond plus selling a put on the firm’s assets [8]





3)  Potential expansion of a project in the future is a call option [8]


=> exercise call by paying expansion cost [4]


=> can use option pricing theory to examine the value of these options [4]


V0 = present value of inflows from expansion, E = cost to expand, s2 = variance of returns on expansion, t = time frame over which can expand, rf = risk-free rate (APR) over expansion period [1 each]





4)  Possibility of abandoning a project in the future is a put option [8]


=> exercise put by selling assets [4]


=> can use option pricing theory and put-call parity to examine the value of these options [4]


V0 = present value of inflows from project, E = cash flows when sell facilities s2 = variance of returns on project, t = time frame over which can abandon the project, rf = risk-free rate (APR) over abandonment period [1 each]





Scale [checks=points]:  47=50, 42=49, 30=47, 24-25=45, 21-23=44, 18=43, 14=42, 10=40, 8=39, 6=37, 5=36, 4=35, 2=33
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6.  Key => graph of feasible set with A, B, and C anchor points combined with risk-free asset and line though point of tangency on efficient set.  Optimal point is beyond the point of tangency.





Points:  labeling of axes [2 each], intercept at rf [2], line through point of tangency [4], point of tangency [4], optimal point with borrowing [4], feasible set [4], A [2], B [2], C [2], discussion of optimal investing is borrowing [8] and investing in tangent risky portfolio [4].





Scale [checks=points]:  38=50, 34=48, 32=46, 30=44, 28=42, 26=40, 22=39, 20=38, 18=37, 16=36, 12=33, 8=30, 6=29


